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(a) Find the magnitude of the force P that will produce a total elongation of 0.020 in.,
and find the resulting stresses in the steel and aluminum.

(b) If the tensile yield stresses are 15 ksi in aluminum and 36 ksi in steel, find the ultimate

tensile load P, for the system, and compute the safety factor under which it is working as
in (a). " L
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2. The steel plate shown is restrained from expanding or contracting in the y-direction, and,
in addition to the stress o,,, it experiences a temperature drop of 20°C. Determine the stress
o,y and the strain ¢, if E = 208 GPa, G = 80 GPa and o = 11.7 x 107%/°C.
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